








 

ُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُ         ُُُُُُُ
مȳي ُُ(3ɰ ُ):الȳابع نُــــالت 

 ُ:ابُحجɯُالبئفحس (1

ُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُV=B×h 

                  ُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُ3.14×(2.4/2)²×23=Vُُُُُُُ
ُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُV=9968ب3ةتm³ُ 

ُ:ȑُباللتفُحجɯُاماءُامɽجȮɽُفيهاأحس (2
                                                       77.9976 m³=  ૜૝ ×103.9968ُ

ɰُاɯنعل:ُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُm³=1000lت 
ɻمنɼ:ُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُ77997.6l =ُ77.9976 m³ ُُُُُُُ

 

ȓضعيɽاُال

  �عبر بدالة  
-ُ
 ُ
 ُُُ
-ُ

ُُ
ُ ُ

1) 
 :ُ(EBMFDالشكلُ)ُ(3)محيطُالجزء1Pُُحسابُُ-

     ُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُ30+50+10+100+50ُ=ُُ1Pُُُ 

           ُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُ    =180m   1Pُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُُ

2) ُȓُُمساح:ȯ2600ُُُُُُاحمmُ=ُ૝૙×૜૙૛S=ُُُ 

ُȓ2600ُمصطفى:ُُمساحmُ=ُ૝૙×૜૙૛S=ُُُُُ
ɼُُُُُُمنɻُامساحتيɰُمتساɼيتيɰُاɰȰُكاɰُمحمȯُمحقاُفيȰُلɣبُ

ُ(:3)مساحȓُالجزءُ-
ُُُُُُُُُُُُُُُُُُُُُُُُ21600m1200=×2800600) =(600+-ُ4ة7ُ×ة 
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